
Do have a go at solving the following ‘Chess 

Problems’ They are not positions from 

games: they are composed (constructed) for 

enjoyment. White plays up the board in 

each position and the numbers in 

parentheses below the diagrams on the 

right are the numbers of white and black 

pieces. 

 

‘#1’ means ‘White to play and mate in one 

move.’ Give White’s first move only. 

‘#2’ means ‘White to play and mate in two 

moves.’ Give White’s first move only. 

‘H#2’ means ‘Black starts and helps White 

to deliver mate on White’s second move. 

Give all moves in each solution. The move 

sequence is ‘1.B W 2.B W#’. 

 

1) Anonymous 

www.superproblem.ru 

BdwdwGwd 
drdwdRdw 
wHkdwdwd 
hwdNdwdw 
wdwdQ1wd 
IRdwhwdw 
wdwdwdwd 
dwdwdwdw 

 

1.Qe8# 

#1                    (8 + 5) 
 

 

 

2) Anonymous 

www.superproblem.ru 

wdndwdwd 
dwdwdwdw 
wdwdwdRd 
dkdK!bdw 
wdNdNdwd 
dwdwdwdw 
RdwGwdwd 
4whwdBdw 

 

1.Kd4# 

#1                    (8 + 5) 

 

3) Brian Tomson 

Sydney Sunday Mirror, 1970 

wdwdwdw! 
dwhwdwdw 
wdB0wdNd 
dwgwdwdR 
wdkdpdwd 
dw)wdwdw 
wdK)wdwd 
dwdwdwdw 

 
1.Qc8! () 
  
1...Sb5 2.Bd5# 
1...S else 2.Q(x)a6# 

1...B any 2.Bb5# 
1...e3 2.d3# 
1...d5 2.Se5# 

 

#2                   (7 + 5) 
 

4) Wieland Bruch 

Troll, 1991 

wdndw!wd 
dwdwdwdw 
wdwdw)wd 
dwdPiwdw 
wHwdwdw$ 
Ipdwgr)w 
wdw0wHwd 
dBdwdRGw 

 
1.Qd8! (2.Sc6#) 
  
1...Rxf6 2.Sfd3# 
1...Bc5 2.Sg4# 
1...Sd6 2.Qe7# 
1…Sa7 2.Qe7# 

1…Se7 2.Qxe7# 
 

#2                 (11 + 6) 
 

5) Stefan Parzuch 

5th HM., Sachmatija, 2002-2003 

wdwdwdwd 
dwdwdwdw 
wdwdwdwd 
dwdwdk)w 
wdwdwdw) 
INdwdBdr 
wdwdwhwG 
dwdbdwdw 

 

1.Se4 Bh5 2.Bf3 Sd4# 
1.Sg4 Sc5 2.Bb3 Be4# 

 

H#2 2 solutions 

                     (6+4) 
 

 

 

For more information about chess 

problems, please visit: 

http://www.theproblemist.org 

 


